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General Instructions :

(i) Answers to questions carrying 1 mark may be from one word to

one sentence.
(ii) Answers to questions carrying 3 marks may be from 50-75 words.

(iii) Answers to questions carrying 4-5 marks may be about 150

words.
(iv) Answers to questions carrying 6 marks may be about 200 words.

(v) Attempt all parts of a question together.

1. focftaw ot & @ forelt v foie gro focfla wereer o afgeafaa = er
ATYEAT T SIGATRIaT Jterd gl ® | i o1 AW 9dqTd 3 3EeR 3o
hifsTe | 1

The size of assets, the profitability and competitiveness are affected by

one of the financial decisions. Name and state the decision.

2. 99U % 39 R T A TATSC S SUFIHIST ! FH o IcdTal bl FoT o d
grafa ? | 1

Name the marketing function which is concerned with informing the

customers about the firm’s products.

3. TiYer w@ ael S o gar em-Tesem &, 3 1o Shere e fafies’
ol Torfua o % fore us aftrg Sve feste S@en @ Hiwt s @ |
32 faolr forn foF 3 fo7 @ us g wamen qen wm sl TEE eE
Testrgf Teerm <t wormt wdiett o foTe it sharmedi s SA=ISH Tl | hife
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=X o TTT 38 918 o Wad o1 9uW aa fohe W fora | 3em g @i
37 formfelai st Aie@ i gfafefoat S e § 2T of | I8 quied ¥ SHd
T Toh 3TeRT HaETd FETE 1 & 34T 81 @ Toh of WIS Shl &FeeT <l
9l ITANT L AT, o HIeehrdt i @ia o TR § e s @ 9 |

“TheHe gae fafiee’ o W & dg@™ | Yol qon W et fiicd wmgae
fafaes’ & m @ 9 fifén dun Ry w1 sgaE™ T ) o | ufeekr A
TeiF § "k foRaT 3R 97 wEdE @ T stem-sta ot fe foem o
T TRt Tk Wit BeiF Eid fSraer T S o g foR s |
el 38H HeEwd 2l A |

“Thee wrgae fafiee’ =it Tumlt it SAawehdrel sl T9Tfad i aTd =ew
! YT | 1

Radhika and Vani who are young fashion designers left their job with a

famous fashion designer chain to set-up a company ‘Fashionate Pvt.
Ltd.” They decided to run a boutique during the day and coaching
classes for entrance examination of National Institute of Fashion
Designing in the evening. For the coaching centre they hired the first
floor of a nearby building. Their major expense was money spent on
photocopying of notes for their students. They thought of buying a
photocopier knowing fully that their scale of operations was not

sufficient to make full use of the photocopier.

In the basement of the building of ‘Fashionate Pvt. Ltd.” Praveen and
Ramesh were carrying on a printing and stationery business in the name
of ‘Neo Prints Pvt. Ltd.” Radhika approached Praveen with the proposal
to buy a photocopier jointly which could be used by both of them

without making separate investment, Praveen agreed to this.

Identify the factor affecting fixed capital requirements of ‘Fashionate

Pvt. Ltd.’
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4. 39 WISHH G< W ATH FATST ST HTHa -3tk oh STANT hl HIIHIIAAT i

SEEI A2 | 1

Name the type of ‘organisational structure’ which promotes efficiency in

utilisation of manpower.

5. ‘Ue9 M M hl UiohAT 7 |’ 39 HUT H WgH Wik I68 oh 37
3oed TS | 1

‘Management is the process of getting things done.” State the meaning

of the term ‘process’ used in this statement.

6. TIS - T T HMER § o &1 Tk Uohe TGliaT qei ar foh 39 oiad
T feU U Teug WE ®Y U TE 9 I Hohd 9 | 3T 3Eh! Rend R |
1 | Tk fAfad &M= SSid §C 0 3 I8 Seora TR T o a7 fHfeem
I Toh ISR © Torem™ Yokl ol 3a1 Toram ST qen Sieg & gu1ed ol o

19 ISR | AT Yehe IqTsd o U ST |

S = T8 ITHIAT SRR 1 SN TRl 3HehT Soai@ hiTST | 1

Manuj bought a packet of chips from a local shopkeeper and found that
the ingredients given on the label were not legible. He complained about
it to the company. The company sent a written apology stating that they
will make sure that existing packets are withdrawn from the market and

new packets with legible labels are soon made available.

State the consumer right which Manuj exercised.

7. AT =01 o Ueh dcdl o ®U H IAQTcd bl 37 oIq13T | 1

Give the meaning of ‘responsibility’ as an element of delegation.

8. hIIIcH BIRAARTT § TIfd TR 3hi fHert 1 Ieci@ Ty | 1

State the role of ‘speed boss’ in functional foremanship.
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9. IUYIRRT TV o TIU TR-TTHRT Tl R v9d foht ST a1 foregt o9
T T Jooid ShITSTT | 3

State any three functions performed by non-governmental organisations

for consumer protection.

10. ff O5F 80 T qF F A A| Tob =T 9 AR @ AT |
ST 5d G 9 Fifoh sieh (AT &9 AT T AT L & A7 | 3ok
39Tl 1 9NN qod off Fafid €9 9 9g W1 o1 | S o1 S 1 ARy
T Sl SN LA ATAT AT | TS 80 S o Toh 39 =90 § w0 s
T T o TG | o I Th 6601 BH ok AT 3¢ & o 3T @G h
AT 7 o1 | 3R 7 Tk ot i g o g ofR 3§ ot S
39 H 5 e T fafetsa & o forg e, wne € 39 gSima @ @ oft
EIRERERI
TRIIET M T Yo 40% &€ TAT AR G 6 T30 1 IR T X 7
FUS B AT | 3Y 2 FUS T FH A AT | I8 1 IS T T 480 i &
fou 3R 1 IS T @9 @ fow | Wit wiayfa wa fafeme e (Fsf) 3
GicTH STl ¥ ISdTS Ud At S o 918 39 A1l s Garar g3 |
Tl T 1T U TR AT TR |
3HITh STfose § Uikl sl 3gd id 8T Wil g Froumiad forel a1 sl =l
TR Td 3T 3eord AT | 3

Mr. Sanjay Nehra was the Chairman of ‘Taran Bank.” The bank was

earning good profits. Shareholders were happy as the bank was paying
regular dividends. The market price of their shares was also steadily
rising. The bank was about to announce taking over of ‘Vena Bank.’
Mr. Sanjay Nehra knew that the share price of ‘Taran Bank’ would rise
on this announcement. Being a part of the bank, he was not allowed to

buy shares of the bank. He called one of his rich friends Sudhir and
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asked him to invest X 5 crores in shares of his bank promising him the

capital gains.

As expected the share prices went up by 40% and the market price of
Sudhir’s shares was now X 7 crores. He earned a profit of X 2 crores. He
gave X 1 crore to Mr. Sanjay Nehra and kept X 1 crore with himself. On
regular inspection and by conducting enquiries of the brokers involved,
Securities and Exchange Board of India (SEBI) was able to detect this
irregularity. The SEBI imposed a heavy penalty on Mr. Sanjay Nehra.

By quoting the lines from the above para identify and state any two

functions that were performed by SEBI in the above case.

11. = g a9 ‘foehileh Tretumgsisl o T © 3R T TR o foreghe o
1 SHIHE L T8 & | W H g a1 U= o1 3R A&F U el & a1 @
| 3T I I 9, e eft-erft st washtu ot i 7, @ o
T g o foTT e |
IS A 9 Toh 3T | |ft TR o Foid o o SATerehR 38eh T o 9rE 9 |
3Gk TUdT 310 e § fovam® 781 Wd o | 36k aRumes R T
FHAR! TFT Th-GAL oh Ga¥Il &l GHH &9 H &1 90 91d & | 6ok HROT
FHER] GRT A & TAT AT hI T TS & o & ot |
() TE forrdl a1 WOwor Sens Rl UEEH hINT e HRO ok

TrETTESIST 379 &A1 ol STH a1 6L a1 Taf off |
(9) ITUH (1) 9N H TgaM Y Tedsh e o ThR hl Tk TR a0 i
Jeoid HIfSTy | 3

Mr. Shubhendu Bose is the owner of ‘Bikmac Enterprises’ carrying on

the business of manufacturing various kinds of biscuits. There was a lot
of discontentment in the organisation and the targets were not being met.
He asked his son, Naval, who had recently completed his MBA, to find

out the reason.
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Naval found that all decision making of the enterprise were in the hands
of his father. His father didn’t believe in his employees. As a result both
the employer and the employees were not able to understand each others
messages in the same sense. Thus, the employees were not happy and

targets were not met.

(a) Identify any two communication barriers because of which Bikmac
Enterprises was not able to achieve its target.

(b) State one more barrier each of the types identified in (a) above.

12. “OAR TewseS fdfiee’ & fauum stewer- omefly, 3 Uerees - 9 Qe

e THEH Tl eeh—SATd 3 Sha Bie ot ol o |

FHA % G wRER] Yo J AT 99199 Y9 SAlfd ol o i
3G Y Tora o 9% W7 Bied ¥ U8 @il 9l i ¥R | I8 giod
BT A 3 e e for 3uehl srefiey AT tetent ufed sigd & a0 w@
forvaaia ® | afe wergea | 38 I R T S at a7 @t steavas &

<M | & IR Ye-4eh 36 ToTT §8Ad & T | AR Tcent gred + ohid

fereed’ ° graeh foha Sreie O weumssist farties’ o foru fomum sreaey
o UG o1 TorTo o | o ot o ToTq Toh STk Seameit sht wiXdl! H 9het g |
WA & Th U8 1 FETad | Uty AU T 6l SIe-T Hieh |
feam |
(31) 3Tk Tk UGl ! W o TofT TR Tretmgsist foAtHee g1 S et oh
HIdi o =T ST |
(9) IUUH U= T Tl o Tedeh Gl o Uoh-Teh ATH 1 Socai@ it FIfT | 3

Ashish, the Marketing Head, Raman, the Assistant Manager and Jyoti,
the Human Resource Manager of ‘Senor Enterprises Ltd.” decided to

leave the company.

The Chief Executive Officer of the company called Jyoti the Human

Resource Manager and requested her to fill up the vacancies before
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leaving the organisation. Informing that her subordinate Miss Alka
Pandit was very competent and trustworthy, Jyoti suggested that if she
could be moved up in the hierarchy, she would do the needful. The Chief
Executive Officer agreed for the same. Miss Alka Pandit contacted
‘Keith Recruiters” who advertised for the post of marketing head for
‘Senor Enterprises Ltd.” They were able to recruit a suitable candidate
for the company.

Raman’s vacancy was filled up by screening the database of unsolicited
applications lying in the office.

(a) Name the internal / external sources of recruitment used by ‘Senor
Enterprises Ltd.’ to fill up the above stated vacancies.

(b) Also state any one merit of each of the above identified source of
recruitment.

13. T i foredi 19 Himnett = gwemsu | 3

Explain any three limitations of planning.

14. T HOH A e T A fauum @ ooft, S osHehl e 3R
TTEhT ! TGH 31 ST aTet forshar I Saneti o sReT g Ufeg o | wraHt
TSR | Teh AU hroAT off 3T 3rcaferes oy AN ot & oft | Tcafems
AT o R FHFHT 4 Ia-3u=a FaTell W SIH edT s R T | 3Eeh
URUTHEEEY Tl & TIY FHET & Tae TS & T qUT a1 hl ol |
IO 6T BfT TS B T | TAHH AT % 1T AATF FH B W 3o
Jee 3Heh o1 | Tafeid g1 | faeeyor ot o8 wan = for fasraiowma gansti
! €I H el TET SR SRV AT | 37d: HAAH a1 hl A9 H AT
IR B &l T HH [T THH IR FH o € Gl 99 3T
JTITT, | $Heh TNUTTHEEEY THTS il 38 § HraHt il Tanfd ger 7 |

(31) IUIh afviq fefd § forqurehal gR1 o] sht Bfa sl GarA o oI 9g®
TEINUT o AT 31 T FaTd G SHAT 358 hiteg |

(1) AT (1) H g e g s viftree off TmEse | 4
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A company was marketing ‘water purifiers’ which were very popular
due to their quality and after sales services provided to the customers.
The company was a leading company in the market and earning huge
profits. Because of huge profits the company ignored the after sales
services. As a result its relations with the customers got spoiled and the
image of the company was damaged in the public. Top management
became concerned when the profits for the current quarter fell steeply.
On analysis it was revealed that ignoring the after sales services was its
reason. Therefore the company took all possible measures to protect and
promote its favourable image in the eyes of the public. As a result the
goodwill of the company improved in the society.

(a) Name and state the communication tool used by the marketer in the

above case to improve its image.

(b) Also explain role of the tool as identified in part (a).

15. o fafee’ 7 e & & Use & °, S|l F1 o 95 w1
3uctsy o, Wl fmfor it ek %ot Tenfua s w1 foia fomm | 3@ @ &
At 3 e fafiee’ & 30 wa 1 @rrd R | Bt O AT i
T TRt &t o ToTq et 5 9 oft Foter forem for el afte W w5a,
JTEATS, TSR 3eaTia et agd €t gloemd «f 3uersy s e |
et fafiee’ = i e A5 e aies o e | e o wfaarht
FOHT | I IS Yeush AHew il whal fafaee’ g/ sifsia foeg s
T3 JTCATEI AT o KRN T TdT T & FoTT = |
AT 3 I TR ST & R 0 STk 323l <hl TfY o forg fafie
feraati o o SIafeud Tm—a 2 | Iash U=l sl I8 J1d © foh i fohaeh
i ITer T SaTeeE 8 | had ST IaAT © foh 3k TeH H TEIN |
ST o HIZIH | € 11 © | Sfch &eial fIfee’ Tvsiyul oh STTaeIehd T aR
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Tt feemati # yaTiRd 8 R AT YoM wdl 7, e gEAieT w3y
TATE BT & 37T I off i T e S e |

(31) TS oh 39 YehR hl TTATHT ST FFEIN0T bl Tl fammedi ® varfed e i
‘et fafiee’ =it rgufa Jem war 2 |
() 7T (37) T T TC TS 6 b o Th 3 ATH 1 3@ HIfT |

(|) T T gl 1 3@ G S LIl A TaT i FRifea e
=Tl 2 | 4

‘Steelo Ltd.” decided to set-up its steel manufacturing factory in the

backward area of Orissa where very less job opportunities were
available. People of that area welcomed this effort of ‘Steelo Ltd.” To
attract people to work in its factory it also decided to provide many other

facilities like school, hospital, market etc. in the factory premises.

‘Steelo Ltd.” started earning huge profits. Another competing company
asked its production manager ‘Aslam’ to investigate the reasons of

earning huge profits by ‘Steelo Ltd.’

Aslam found that in both the companies there was systematic co-
ordination among the various activities to achieve organisational goals.
Every employee knew who was responsible and accountable to whom.
The only difference was that in his organisation communication took
place only through the scalar chain whereas ‘Steelo Ltd.” was allowing
flow of communication in all the directions as per the requirement which
lead to faster spread of information as well as quick feedback.

(a) Identify the type of organisation which permits ‘Steelo Ltd.” the flow

of communication in all the directions.

(b) State another advantage of the type of organisation identified in (a)
above.

(c) State any two values which ‘Steelo Ltd.” wanted to communicate to

the society.
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16. i g1 B & § SIS 0T T ST S0 H heldl | IcaTfed alept AfHd, S
for Tufa faeme™ &1 fogm =1 w fommeff R, 3 e o« 31t sfear @ =
foram | fSTeeh 30 9% F3-Fe) ¥ I 399 1 3TN F dTell BRI T
TG T TS IThT fIhTE T | I Tk UHt & R a1 forerma fomam qen
74 fren fgemer g0 s fogm Bt ® wefdfa fora | 59 s1gg e & fag

o

34 YW TR § GETHG foRam T |
Iqh ferta | =f<ia saTa9TiRies Y=iaRol o ST ohl UE=I-T Ud JHETSY | 4

A recent rate cut in the interest on loans announced by the Banks

encouraged Amit, a science student of Progressive School to take a loan
from State Bank of India to experiment and develop cars to be powered
by fuel produced from garbage. He developed such a car and exhibited it
in the Science Fair organised by Directorate of Education. He was
awarded first prize for his invention.

Identify and explain the dimensions of business environment discussed

in the above case.

17. ‘1w fafuee’ 15 el o & § & = & off | auw 7y Skl dW a
I AT 7T Tt Rl TR o7 oh ot fafsm Tsat 1 9w e o | e
T it o STIHR a1 TATE TS S ATAT FHLAT T, STich 3Heh! S0 TS /i

SR AT Ll off | SO0 T hadt 19k THd T ot SAfug shvfi-whedt 3w
HigeT T bt Tehet i AT A o foTT AsteR BT U ot |

Toh TNUTTHETEY, STEfEe TISTcHe: 331 shl ITTH o foTy 39 YohR & &Y
TR AT o ST A TS o | R o T R AR hl 39k
IR 9dq1 =1 | 38 I AdT il AR, 39 0T H 3qeh |1 == ohl qel
FHrot <t A fifd sea 9 | wg Fror forn e TR wiosy § an |fed A
T Tk 1Y AT hid] 3R AT oF T 1 GGUANT T & a1 UTSehi
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! 1 ST aTel! SRGfd ==l H e | S8 HehRIcHs T 98T 3R I
Tk TeE A 1 Ad1 S0 IA1fed atieh 9 sk shiT TR o TeT |

&I SRRl ATTHRT FRI TIh T4 & 13 o dcd ohl [RISarsti & 3g@
I | 4

‘Alfa Ltd.” was dealing in renewable energy. To get the business, the

team leader and his team used to travel to different states to give
presentation to their clients. As per the policy of the company, the leader
used to travel by air, whereas his team travelled by road / train. It was
not only time consuming but also at time forced female team members

to travel alone.

As a result, the subordinates were not acting in a desired manner to
achieve organisational goals. The CEO came to know about it. He called
the team leader, discussed the matter with him and decided to change the
travel policy of the company. It was decided that all the members
including the leader would travel together in future and would usefully
utilise the travelling time in discussion with the subordinates about
presentation to be given to the clients. This made a positive impact and
every member of the team started acting in a manner as desired by the
team leader.

State the features of the element of the function of management used by

the CEO.

18. o9 o TagT=l o " o fohral o TGl ohl AWETST | 4

Explain any four points of importance of principles of management.
19. Torit SITSIR o T 1 3g@ HINT | 4

State the functions of financial market.
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20. 3T TG hl U TEUL FHOH] H HRG 1 | et et fl 9 38 gen
oT | STel 3ok Ttk ohl i<l 1 T8 Al Il el foh 38 ST 8 3R 35 wieeie i
et off sigd W 81 718 ? | 37 3 ITEATA H Tl SHLET T q1 ST A
39! Th T hl Tt <1 | 39k Teh @reft 9 3ueh Tl “oft IR
gHeh! Uk foTiad F=1 a1 | ot AR 5 qd & Eed o aeft et i
3R] o TTC Th-3M S ol T A §C T foiftga =T a1 | 519 g
Tegh i 39 a9 H qaT =el al 38 wEOH] IHER k76T e qe
JATHITH o & sl TEHTS T 3T o |

(37) ITh TF=se ¥ 3Igd Hd U AUETGEh T ST TrNT g
Trafeea afRal i 3RTa i |

() SFA=Th 0T oAl feheel 1 forivaratl 1 e ey |

(|) 3Tk uifefa o auTs ot aEifvd fore ST aTet fordl 31 gedt ot 9eam
i | 5

Arun is working in a multinational company in Gurgaon. He was

running temperature for the last many days. When his blood was tested,
he was found positive for dengue with a very low platelet count.
Therefore, he was admitted in the hospital and a blood transfusion was
advised by the doctors. One of his colleagues sent a text message about
it to his immediate superior ‘Mr. Narain’. ‘Mr. Narain’ in turn sent a text
message to the employees of the organisation requesting them to donate
blood for Arun. When the General Manager came to know about it, he
ordered for fumigation in the company premises and cleanliness of the
surroundings.
(a) From the above para quote lines that indicate formal and informal
communication.
(b) State any two features of informal communication.

(c) Identify any two values that are being communicated to the society
in the above case.
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21. 399 g4 7Y J @ et 7§ oo feft ot it | 3eH 38 9w 9@ =@,
IR J HL&aT S aTel! Teh a1 H i ToRaT | 98 39 hF0HT 8§ @1 el off
R 364 I8 Fofwr foran fo a1 3ot werr ot 1ot wer Sifoss @ drenfisht
TERHUT SIS TATTUG RN | 304 3539 U9 @ed Hgiia fory o 3= W &
Y R -ASTE TE |
39T Wk 32w Y 9 ¢ fafa=nfsma ufer ww 10% < il o ot | 9=
Fota foran man fo6 o= ara 99 o, afesart, 7T safe i TE it 3R
T A ik FHA I AT fohaml 8 & &lie S | 384 98 off Fofa
foran for @ ot oI o HIEIH ¥ IcATaT o T[99 ok ToTq |ft Trarwarsh =ron
1 T ToRaT ST | 36 ITATEH Ta-4eh o ®9 H HigA ol gk foha S
3caTed TeRaneti ot fFefed st o Feifia wient 1 oft Fofa formm | Aigm
Y WA HFd H I ST STl HHETHAT ht TEAT h YR i arett forawor
o I foRa | 3T STt AR o foTe Ay = Hige ol &emgar Tty Sl
% I A&l oF aR | ot giua o | e 09 W R R 99 e,
TEA qAT TH T 981 W X 100 Ferfed o ol hi =wor off i 75 |

3HIh Tg=se ¥ Ufthal sl 3gd i Y 380 afid fafyrs A1 o TR

i gg= HIfST qe 3 THETST | 5
Two years ago Madhu completed her degree in food technology. She

worked for sometime in a company manufacturing chutneys, pickles and
murabbas. She was not happy in the company and decided to have her
own organic food processing unit for the same. She set the objectives
and the targets and formulated action plan to achieve the same.

One of her objective was to earn 10% profit on the amount invested in
the first year. It was decided that raw materials like fruits, vegetables,
spices etc. will be purchased on three months credit from farmers
cultivating organic crops only. She also decided to follow the steps
required for marketing of the products through her own outlets. She

appointed Mohan as a Production Manager who decides the exact
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manner in which the production activities are to be carried out. Mohan
also prepared a statement showing the number of workers that will be
required in the factory throughout the year. Madhu informed Mohan
about her sales target for different products, areawise for the
forthcoming quarter. While working on the production table a penalty of
X 100 per day for not wearing the caps, gloves and apron was

announced.
Quoting lines from the above para identify and explain the different

types of plans discussed.

22. Tra=ror gfsean & <=Ron skt gaEs| 5

Explain the steps in the controlling process.

23, ‘amn fafiee’ v ouerga fufofl st @ 1wt 7w dSft ¥ 60 @ R |
et o geehl Wid 37=1 317 X 0.50 off | fafaefsro o fog et =1 T 40
AT ATRH YSht shl ATarwaenRal off | 38k fTe et 9 10% omas Frifa
otk fod TeRizd foram | =me] o # ot 3 faf=ntsa gt T 8 g e

ST ToRaT | 38 40% o1 & T T T ToRaT |

(31) 3g@ hifrg for fafadieror W sterenfa 1 ufd o191 3@ @ @ gan
Y B g3 | 3701 OIS Rl T8 ¥ Y 30 |

() = & 3Heh ISl @ o 9T & &9 H HET §RI KOS o (10 & ver |

foreeli ot shrent o1 3 oft ifST | 6
‘Viyo Ltd.’ is a company manufacturing textiles. It has a share capital of
X 60 lakhs. The earning per share in the previous year was X 0.50. For
diversification, the company requires additional capital of I 40 lakhs.
The company raised funds by issuing 10% debentures for the same.
During the current year the company earned profit of ¥ 8 lakhs on

capital employed. It paid tax @ 40%.
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(a) State whether the shareholders gained or lost, in respect of earning

per share on diversification. Show your calculations clearly.

(b) Also, state any three factors that favour the issue of debentures by

the company as part of its capital structure.

24, AT 3 TR GER Y gRE | THI | i T Siad Giel | Sad T
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Ashima purchased a bottle of tomato-sauce from the local grocery shop.
The information provided on the bottle was not clear. She fell sick on
consuming it. She filed a case in the District Forum under Consumer

Protection Act and got the relief.

(a) Identify the important aspect neglected by the marketer in the above

case.

(b) Explain briefly the functions of the aspect identified in (a) above.

25. Ta= i Toregl =R forsiwaneti wt awemsT | 6

Explain any four characterics of management.
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66/1/2

MARKING SCHEME-2015-16
BUSINESS STUDIES
DELHI-66/1/2
EXPECTED ANSWERS / VALUE POINTS

DISTRI-
BUTION
OF MARKS

Q. The size of assets, the profitability and competitiveness are affected
by one of the financial decisions. Name and state the decision.

Ans. Investment decision/ Capital budgeting decision.

Investment decision refers to how the firm’s funds are invested in different
assets so as to earn the highest possible return to the investors.

%2 mark for naming
+

%2 mark for stating

atVa

1 mark

Q. Name the marketing function which is concerned with informing
the customers about the firm’s products.

Ans. Promotion.

1 mark

Q. Radhika and Vani who are young fashion designers left their job
with a famous fashion designer chain to set-up a company ‘Fashionate
Pvt. Ltd.” They decided to run a boutique during the day and
coaching classes for entrance examination of National Institute of
Fashion Designing in the evening. For the coaching Centre they hired
the first floor of a nearby building. Their major expense was money
spent on photocopying of notes for their students. They thought of
buying a photocopier knowing fully that their scale of operations was
not sufficient to make full use of the photocopier.

In the basement of the building of ‘Fashionate Pvt. Ltd.” Preveen and
Ramesh were carrying on a printing and stationery business in the
name of ‘Neo Prints Pvt. Ltd.” Radhika approached Praveen with the
proposal to buy a photocopier jointly which could be used by both of
them without making separate investment, Praveen agreed to this.
Identify the factor affecting fixed capital requirements of ‘Fashionate
Pvt. Ltd.’

Ans. Level of Collaboration.

1 mark

Q. Name the type of ‘organisational structure’ which promotes
efficiency in utilisation of manpower.

Ans. Functional structure.

1 mark

Q. ‘Management is the process of getting things done.’ State the
meaning of the term ‘process’ used in this statement.

Ans. ‘Process’ means series of primary functions or activities that
management performs to get things done.

1 mark

Q. Manuj bought a packet of chips from a local shopkeeper and found
that the ingredients given on the label were not legible. He complained
about it to the company. The company sent a written apology stating
that they will make sure that existing packets are withdrawn from the

1 mark
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market and new packets with legible lables are soon made available.
State the consumer right which Manuj exercised.

Ans. Right to be informed which states that a consumer has a right to have
complete information about the product he intends to buy such as,
ingredients, date of manufacture, price, quantity etc.

OR
Right to be heard which states that a consumer has right to file a complaint
and to be heard in case of dissatisfaction with a product or a service.

Q. Give the meaning of ‘responsibility’ as an element of delegation.

Ans. Responsibility as an element of delegation means obligation of a
subordinate to perform the assigned duty properly.

1 mark

Q. State the role of ‘speed boss’ in functional foremanship

Ans. The role of ‘speed boss’ as a foreman in functional foremanship is to
ensure timely and accurate completion of job.

1 mark

Q. State any three functions performed by non-governmental
organisations for consumer protection.

Ans. Functions performed by non-governmental organisations for
consumer protection are: (any three)

(1) Educating the general public about consumer rights.

(i1) Publishing periodicals and other publications.

(ii1) Carrying out comparative testing of consumer products.

(iv) Encouraging consumers to strongly protest and take action against
unscrupulous, exploitative and unfair trade practices of sellers.

(v) Providing legal assistance to consumers.

(vi) Filing complaints in appropriate consumer courts on behalf of the
consumers.

(vii) Taking initiative in filing cases in consumer courts in the interest of
the general public.

(If an examinee has given only the headings, 2 mark for each heading
should be awarded)

10

Q. Mr. Sanjay Nehra was the Chairman of ‘Taran bank.” The bank
was earning good profits. Shareholders were happy as the bank was
paying regular dividends. The market price of their shares was also
steadily rising. The bank was about to announce taking over of ‘Vena
Bank.” Mr. Sanjay Nehra knew that the share price of ‘Taran Bank’
would rise on this announcement. Being a part of the bank, he was not
allowed to buy shares of the bank. He called one of his rich friends
Sudhir and asked him to invest I5 crores in shares of his bank
promising him the capital gains.

As expected the share prices went up by 40% and the market price of
Sudhir’s shares was now 7 crores. He earned a profit of 32 crores.
He gave 31 crore to Mr. Sanjay Nehra and kept %1 crore with
himself. On regular inspection and by conducting enquiries of the
brokers involved, Securities and Exchange Board of India (SEBI) was

16
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able to detect this irregularity. The SEBI imposed a heavy penalty on
Mr. Sanjay Nehra.

By quoting the lines from the above para identify and state any two
functions that were performed by SEBI in the above case.

Ans. Functions that were performed by SEBI in the above case were:

(1) Regulatory function

‘On regular inspection and by conducting enquiries of the brokers
involved, Securities and Exchange Board of India (SEBI) was able to
detect this irregularity.’

SEBI can call for information by undertaking inspection, conducting
enquiries and audits of stock exchanges and intermediaries.

(i1) Protective function
‘The SEBI imposed a heavy penalty on Mr. Sanjay Nehra.’
SEBI controls insider trading and imposes penalties for such practices.

(If an examinee has given only the headings, 2 mark for each heading
should be awarded)

% mark for
identifying each
function
+
2 mark for quoting
the line
+
% marKk for each
statement

1%x2

3 marks

11

Q. Mr. Shubhendu Bose is the owner of ‘Bikmac Enterprise’ carrying
on the business of manufacturing various kinds of biscuits. There was
a lot of discontentment in the organization and the targets were not
being met. He asked his son, Naval, who had recently completed his
MBA, to find out the reason.

Naval found that all decision making of the enterprise were in the
hands of his father. His father didn’t believe in his employees. As a
result both the employer and the employees were not able to
understand each other’s messages in the same sense. Thus, the
employees were not happy and targets were not met.

(a) Identify any two communication barriers because of which
Bikmac Enterprise was not able to achieve its target.

(b) State one more barrier each of the types identified in (a) above.

Ans. (a) Two communication barriers are:
(1) Organisational barrier/ Organisational policy
(i1) Psychological barrier/ Distrust.

(b) Organisational barrier: (Any one)

(1) Rigid Rules and regulations may delay communication.

(i) Status of the superior may not allow his subordinates to express their
feelings freely.

(ii1) Complexity in organization structure leads to delayed and distorted
communication.

(iv) Lack of organizational facilities like frequent meetings, suggestion
box etc. may discourage free flow of communication.

%x2

1 mark
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(If an examinee has given only the heading, 2 mark for each heading 1 mark
should be awarded)

Psychological barrier: (any one) +
(1) Premature evaluation i.e. evaluating the meaning of the message before
the completion of the message may lead to prejudices against
communication.

(i1) Lack of attention i.e. non-listening of the message acts a major 1 mark
psychological barrier.
(ii1) Loss by transmission and poor retention may act as a barrier to =

communication. 1+1+1
(If an examinee has given only the heading, /4 mark for each heading 3 marks
should be awarded)

12 | Q. Ashish, the Marketing Head, Raman, the Assistant Manager and
Jyoti the Human Resource Manager of ‘Senor Enterprises Ltd.’
decided to leave the company.

The Chief Executive Officer of the company called Jyoti the Human
Resource Manager and requested her to fill up the vacancies before
leaving the organisation. Informing that her subordinate Miss Alka
Pandit was very competent and trustworthy, Jyoti suggested that if
she could be moved up in the hierarchy, she would do the needful. The
Chief Executive Officer agreed for the same. Miss Alka Pandit
contacted ‘Keith Recruiters’ who advertised for the post of marketing
head for ‘Senor Enterprises Ltd., They were able to recruit a suitable
candidate for the company.

Raman’s vacancy was filled up by screening the database of
unsolicited applications lying in the office.

(a) Name the internal/external sources of recruitment used by ‘Senor
Enterprises Ltd.’ to fill up the above stated vacancies.

(b) Also state any one merit of each of the above identified source of
recruitment.

Ans. (a) Sources of recruitment used to fill up the vacancies are:

(i) Promotion
(i1) Placement Agencies and Management Consultants
(ii1) Casual Callers

(b) Merit of each of the above identified source of recruitment:
Promotion: (Any one)

(1) It helps to improve motivation, loyalty and satisfaction level of
employees. %2 x3
(i) It has a great psychological impact over the employees because a
promotion at a higher level may lead to a chain of promotions at lower =
levels in the organisation.
(ii1) It is a more reliable way of recruitment since the candidates are 1 2 marks
known to the organisation.

(iv) It is a cheaper source of recruitment.

Placement Agencies and Management Consultants: (Any one)
(1) They recommend suitable names to their clients. +
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(i1) It helps in enticing the needed top executives from other companies by
making the right offers.

Casual Callers: (Any one)

popular due to their quality and after sales services provided to the
customers. The company was a leading company in the market and
earning huge profits. Because of huge profits the company ignored the
after sales services. As a result its relations with the customers got
spoiled and the image of the company was damaged in the public. Top
management became concerned when the profits for the current
quarter fell steeply. On analysis it was revealed that ignoring the after
sales services was its reason. Therefore the company took all possible
measures to protect and promote its favourable image in the eyes of
the public. As a result the goodwill of the company improved in the
society.

(a) Name and state the communication tool used by the marketer in
the above case to improve its image.

(b) Also explain role of the tool as identified in part (a).

Ans. (a) Public Relations.
Public Relations refer to a variety of programmes to promote and protect a
company’s image or its products in the eyes of the public.

(or any other correct meaning)

(1) It reduces the cost of recruiting workforce in comparison to other 2 x3
sources. =
(i1) It saves time. 1 2 marks
(If an examinee has given only the heading, /4 mark for each heading
should be awarded) =

1%+1%

3 marks

13 | Q. Explain any three limitations of planning.
> mark for heading
Ans. Limitations of planning: (Any three points with explanation) +
%2 mark for explan-
(1) Leads to rigidity ation
(i1) May not work in a dynamic environment. =1x3
(ii1) Reduces creativity. =3 marks
(iv) Involves huge costs.
(v) Time consuming.
(vi) Does not guarantee success.
(if an examinee has not given the headings as above but has given the
correct explanation, full credit be given)
14 | Q. A company was marketing ‘water purifiers’ which were very
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(b) Role of Public Relations: (any three points with explanation)
(1) Press Relations.

(i1) Product Publicity.

(ii1) Corporate Communication.

(iv) Lobbying.

(v) Counselling.

(vi) Smooth functioning of business.

(vi) Image building.

(vii) Launching new products.

(viii) Facing adverse publicity.

(ix) Supplementing advertising.

(x) Satisfying interest of different public groups.
(xi) Building awareness

(xii) Building credibility.

(xiii) Stimulating sales force.

(xiv) Lowering promotion costs.

(If an examinee has not given the headings but has given the correct
explanation, full credit should be given)

%2 mark for naming
the tool
+

%2 mark for stating

atVa

1 mark

+

> mark for heading
+
%2 mark for its
explanation

1x3

3 marks

4 marks

15

Q. ‘Steelo Ltd.’ decided to set-up its steel manufacturing factory in
the backward area of Orissa where very less job opportunities were
available. People of that area welcomed this effort of ‘Steelo Ltd.” To
attract people to work in its factory it also decided to provide many
other facilities like school, hospital, market etc. in the factory
premises.

‘Steelo Ltd.’ started earning huge profits. Another competing
company asked its production manager ‘Aslam’ to investigate the
reasons of earning huge profits by ‘Steelo Ltd.’

Aslam found that in both the companies there was systematic
coordination among the various activities to achieve organisational
goals. Every employee knew who was responsible and accountable to
whom. The only difference was that in his organisation
communication took place only through the scalar chain whereas
‘Steelo Ltd.” was allowing flow of communication in all the directions
as per the requirement which lead to faster spread of information as
well as quick feedback.

(a) Identify the type of organisation which permits ‘Steelo Ltd.’ the
flow of communication in all the directions.

(b) State another advantage of the type of organisation identified in
(a) above.

(c) State any two values which ‘Steelo Ltd.” wanted to communicate to
the society.

Ans. (a) Informal organisation.

20
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(b) Advantage of informal organisation: (Any one)
(1) It fulfills social needs
(i1) It compensates for inadequacies in the formal organisation.
(If an examinee has given only the headings, 2 mark for each heading
should be awarded) 1 mark
(c) Values which ‘Steelo Ltd.” wanted to communicate to the society are: +
(Any two) 1 mark for advantage
(1) Development of backward regions.
(i1) Creating employment opportunities. +
(ii1) Providing basic amenities to employees.
(iv) Fulfilling social responsibility.
1 mark for each value
( Or any other correct value) =
1x2
2 marks
1+1+2
4 marks
16 | Q. A recent rate cut in the interest on loans announced by the Banks
encouraged Amit, a science student of Progressive School to take a
loan from State Bank of India to experiment and develop cars to be
powered by fuel produced from garbage. He developed such a car and
exhibited it in the Science Fair organized by Directorate of Education.
He was awarded first prize for his invention.
Identify and explain the dimensions of business environment
discussed in the above case.
Ans. Dimensions of business environment:
(i) Economic environment
Economic environment refers to factors and forces concerning means of 1 mark for
production and distribution of wealth. identification of each
OR dimension
Economic environment refers to factors like interest rates, inflation rates
and changes in disposable income of people etc. which have an impact on +
business enterprise.
(i1) Technological environment 1 mark for its
explanation
Technological Environment of business includes forces relating to
scientific improvements and innovations which provide new ways of =
producing goods and services and new methods and techniques of
operating a business. 2+2
4 marks
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17

Q. ‘Alfa Ltd.” was dealing in renewable energy. To get the business,
the team leader and his team used to travel to different states to give
presentation to their clients. As per the policy of the company, the
leader used to travel by air, whereas his team travelled by road/train.
It was not only time consuming but also at time forced female team
members to travel alone.

As a result, the subordinates were not acting in desired manner to
achieve organisational goals. The CEO came to know about it. He
called the team leader, discussed the matter with him and decided to
change the travel policy of the company. It was decided that all the
members including the leaders would travel together in future and
would usefully utilize the travelling time in discussion with the
subordinates about presentation to be given to the clients. This made a
positive impact and every member of the team started acting in a
manner as desired by the team leader.

State the features of the element of the function of management used
by the CEO.

Ans. Features of motivation:

(a) It is an internal feeling as the urges, drives or needs of human beings
which influence human behaviour are internal.

(b) It produces goal directed behaviour as it stimulates people to
accomplish desired goals.

(c) It can be positive in the form of positive rewards or negative like
punishment, stopping increments etc.

(d) It is a complex process as any type of motivation may not have a
uniform effect on all the members.

(If an examinee has given only the headings, 2 mark for each heading
should be awarded)

4 marks

(11) It facilitates price discovery for financial assets by interaction of forces

18 | Q. Explain any four points of importance of principles of
management.
> mark for heading
Ans. Importance of principles of management (Any four points with +
explanation) Y2 mark for explan-
(1) Provide the mangers with useful insights into reality. ation
(i1) Help in optimum utilisation of resources and effective administration. =
(ii1) Help in taking scientific decisions. 1x4
(iv) Help in meeting changing environment requirements. =
(v) Help in fulfilling social responsibility. 4 marks
(vi) Used as a basis for management training, education and research.
(if an examinee has not given the headings as above but has given the
correct explanation, full credit be given)
19 | Q. State the functions of financial market.
Ans. Functions of financial market:
1x4
(1) It mobilises savings and channelises them into most productive use by =
facilitating transfer of savings from savers to investors. 4 marks
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of demand and supply.

(ii1) It provides liquidity to financial assets as the securities can be easily
converted into cash.

(iv) It helps to save time, effort and money that both buyers and sellers of
a financial asset would have to otherwise spend to try and find each other.

(If an examinee has given only the heading, /4 mark for each heading
should be awarded)

20

Q. Arun is working in a multinational company in Gurgaon. He was
running temperature for the last many days. When his blood was
tested, he was found positive for dengue with a very low platelet
count. Therefore, he was admitted in the hospital and a blood
transfusion was advised by the doctors. One of his colleagues sent a
text message about it to his immediate superior ‘Mr. Narain’. ‘Mr.
Narain’ in turn sent a text message to the employees of the
organisation requesting them to donate blood for Arun. When the
General Manager came to know about it, he ordered for fumigation in
the company premises and cleanliness of the surroundings.

(a) From the above para quote lines that indicate formal and informal
communication.

(b) State any two features of informal communication.

(c) Identify any two values that are being communicated to the society
in the above case.

Ans. (a) Formal communication

‘When the General Manager came to know about it, he ordered for
fumigation in the company premises and cleanliness of the surroundings.

Informal communication
‘One of his colleagues sent a text message about it to his immediate
superior ‘Mr. Narain’.

OR

‘Mr. Narain’ in turn sent a text message to the employees of the
organisation requesting them to donate blood for Arun’.

(b) Features of Informal communication: (Any two)

(1) It takes place without following the formal lines of communication.
(i1) It arises out of social needs of the employees
(ii1) It spreads rapidly.

(or any other correct feature)

(c) Values being communicated to the society are: (Any two)
(i) Concern for the environment

(i1) Cleanliness and hygiene

(ii1) Concern for safety of human beings

%» mark for indicating
type
of
communication
+
%2 mark for quoting
the lines

1x2

2 marks

% x2

1 mark
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(iv) Sensitivity towards health
1x2

( Or any other correct value) =

2 marks
(If an examinee has given only the heading, /2 mark for the each =
heading should be awarded) 2+1+2

5 marks

21 | Q. Two years ago Madhu completed her degree in food technology.
She worked for sometime in a company manufacturing chutneys,
pickles and murabbas. She was not happy in the company and
decided to have her own organic food processing unit for the same.
She set the objectives and the targets and formulated action plan to
achieve the same.

One of her objectives was to earn 10% profit on the amount invested
in the first year. It was decided that raw materials like fruits,
vegetables, spices etc. will be purchased on three months credit from
farmers cultivating organic crops only. She also decided to follow the
steps required for marketing of the products through her own outlets.
She appointed Mohan as a Production Manager who decides the exact
manner in which the production activities are to be carried out.
Mohan also prepared a statement showing the number of workers
that will be required in the factory throughout the year. Madhu
informed Mohan about her sales target for different produts, areawise
for the about her sales target for different products, areawise for the
forthcoming quarter. While working on the production table a
penalty of 3100 per day for not wearing the caps, gloves and apron
was announced.

Quoting lines from the above para identify and explain the different
types of plans discussed

Ans. The different types of plans are:

(i) Objective

‘One of her objective is to earn 10% profit on the amount invested in the
first year’.

An objective is the end which the management seeks to achieve within a
given time period.

(ii) Policy

‘It was decided that raw materials like fruits, vegetables, spices etc. will
be purchased on three months credit from farmers cultivating organic ¥ mark for
crops only’. identifying the type of
plan and quoting it
Policy is a general guideline which brings uniformity in decision making +

for achievement of predetermined objectives. %2 mark for its
explanation

(ii1) Procedure =

1x5

‘She also decided to follow the steps required for marketing of the =
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products through her own outlets’.

OR

‘She appointed Mohan as a Production Manager who decides the exact
manner in which the production activities are to be carried out’.

It consists of sequence of routine steps on how to carry out activities. It
details the exact manner in which any work is to be performed.

(iv) Budget

‘Mohan also prepared a statement showing the number of workers that
will be required in the factory throughout the year’.

OR

‘Madhu informed Mohan about the sales target for different products,
areawise for the forthcoming quarter’.

A budget is plan which states expected results of a given future period in
numerical terms. It may be expressed in time, money or physical units.

(V) Rule

‘While working on the production table, a penalty of X100 per day for not
wearing the caps, gloves and aprons was announced’.

A rule is a statement that specifies what is to be done or not to be done.

5 marks

5 marks

22 | Q. Explain the steps in the controlling process.

Ans. Steps in the controlling process: (With explanation) % mark for the
heading

(1)Setting performance standards. +
(i) Measurement of actual performance. Y2 mark for
(ii1) Comparing actual performance with the standards. explanation
(iv) Analysing deviations. =1x5
(v) Taking corrective action. 5 marks
(If an examinee has not given the headings as above but has given the
correct explanation, full credit be given)

23 | Q. “Viyo Ltd.’ is a company manufacturing textiles. It has a share

capital of rupees 60 lakhs. The earning per share in the previous year
was rupees 0.50. For diversification, the company requires additional
capital of rupees 40 lakhs. The company raised funds by issuing 10%
debentures for the same. During the current year the company earned
profit of rupees 8 lakh on capital employed. It paid tax @40%.

(a) State whether the shareholders gained or lost, in respect of earning
per share on diversification. Show your calculations clearly.

(b) Also, state any three factors that favour the issue of debentures by
the company as part of its capital structure.

Ans. (a) Earning per share before diversification: 30.50

Calculation of Earning per share after issue of Debentures: (assuming
face value of T100 per share)
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Particulars 4
Share capital 60,00,000
10% debentures 40,00,000
Total 1,00,00,000
Profit before interest and tax 8,00,000
Less Interest 4,00,000
Profit before tax 4,00,000
Less tax@ 40% 1,60,000
Profit available to sharecholders 2,40,000
Earning per share
=2,40,000/60,000 =34
This clearly shows that the shareholders have gained after the issue of
debentures since the Earning per share has increased from %0.50 to 34.
OR
Calculation of Earning per share after issue of Debentures: (assuming
face value of 10 per share)
Particulars 4
Share capital 60,00,000
10% debentures 40,00,000
Total 1,00,00,000
Profit before interest and tax 8,00,000
Less Interest 4,00,000
Profit before tax 4,00,000
Less tax@ 40% 1,60,000
Profit available to sharecholders 2,40,000
Earning per share
=2,40,000/6,00,000 =30.40

1 mark is to be awarded]

credit be given|]

This clearly shows that the shareholders have lost after the issue of
debentures since the Earning per share has decreased from 0.50 to 0.40.

[Note: In case, a student has calculated Return on Investment as 8%
(8,00,000/21,00,00,000) and compared it with the rate of interest which is
10% and concluded that the shareholders have lost after the issue of
Debentures since the interest rate is greater than the Return of Investment,

[In case the examinee has assumed any other face value and has
shown correct calculations and given the correct conclusion, full

(b) Factors that favour issue of debentures by the company: (Any three)

meet its interest payment obligations

(1) A good cash flow position makes debt funding more viable.
(i1) High Interest Coverage ratio lowers the risk of company failing to

(ii1) High debt service coverage ratio indicates better ability to meet the

2 marks for
calculating Profit
available to
shareholders
(2,40,000)

1 mark for correct
calculation of Earning
per share and
conclusion

2+1

3 marks
for any of the given
correct calculations

1x3
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debt service obligations.

(iv) If Return on Investment of the company is higher than the interest rate
on debt, its ability to use debt is greater.

(v) Lower the cost of debt higher is the ability to employ debt.

(vi) High tax rate makes debt relatively cheaper.

(vii) If the stock market conditions are bearish, a company may be able to
easily raise funds through debt.

(viii) If the company does not want dilution of control, it will favour debt
as a source of finance.

(ix) Inclusion of debt in the capital structure makes the capital structure
flexible.

(x) If the business risk is lower, its capacity to use debt is higher.

(xi) Raising funds through debt involves low floatation costs.

(If an examinee has given only the heading, /4 mark for each heading
should be awarded)

3 marks

6 marks

24

Q. Ashima purchased a bottle of tomato-sauce from the local grocery
shop. The information provided on the bottle was not clear. She fell
sick on consuming it. She filed a case in the District Forum under
Consumer Protection Act and got the relief.

(a) Identify the important aspect neglected by the marketer in the
above case.

(b) Explain briefly the functions of the aspect identified in (a) above.

Ans. (a) Labelling.

(b) Functions of labelling: (any five points with explanation)
(1) Describes the product and specifies its contents.

(i1) Identifies the product or brand.

(ii1) Helps in grading of products.

(iv) Helps in promotion of products.

(v) Provides information required by law.

(If an examinee has not given the headings as above but has given the
correct explanation, full credit should be given)

1 mark
+
> mark for heading
+
%2 mark for
explanation

1x5

5 marks

25

Q. Explain any four characteristics of management.

Ans. Characteristics of management: (Any four points with explanation)

(1) Goal oriented process
(i1) Group activity

(ii1) Intangible force

(iv) Pervasive

(v) Multi- dimensional
(vi) Continuous process
(vii) Dynamic function.

(if an examinee has not given the headings as above but has given the
correct explanation, full credit be given)

% mark for the
heading
+

1 mark for
explanation

1%x4

6 marks
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